A AL A A

% | T

T a | = 1l

1 | OPTICAL POST ea | 100

2 | OPTICAL POST ea | 20

3 | OPTICAL POST ea | 20

4 | OPTICAL POST ea | 30

5 | POST HOLDER ea | 100

6 | POST HOLDER ea | 20

7 | POST HOLDER ea | 20

8 | POST HOLDER

e e

1L T4

1. OPTICAL POST

2. OPTICAL POST

3. OPTICAL POST

4. OPTICAL POST

5. POST HOLDER

6. POST HOLDER

7. POST HOLDER

8. POST HOLDER
2. T4
1. OPTICAL POST

@12.7 mm Optical Post
M4 Setscrew

M6 Tap

L =75 mm

5 Pack




2. OPTICAL PCST

@12.7 mm Optical Post
M4 Setscrew

M6 Tap

L = 20 mm

5 Pack

3. OPTICAL PCST

@12.7 mm Optical Post
M4 Setscrew

M6 Tap

L = 50 mm

5 Pack




4. OPTICAL POST

- ©12.7 mm Optical Post
- M4 Setscrew

- M6 Tap

- L = 100 mm

- 5 Pack

5. POST HOLDER

@12.7 mm Post Holder

Spring-Loaded Hex-Locking Thumbscrew
L=75 mm

5 Pack




6. POST HOLDER

- ¢12.7 mm Post Holder

- Spring-Loaded Hex-Locking Thumbscrew

- L=20 mm
@12.7 mm Post Holder

5 Pack

Spring-Loaded Hex-Locking Thumbscrew
L=50 mm

5 Pack

7. POST HOLDER




8. POST HOLDER

@12.7 mm Post Holder

Spring-Loaded Hex-Locking Thumbscrew
L=100 mm

5 Pack

3. 71EtA3t
7h AX A AE FeA FEH 2 350-27 XR kel A A AAE 1065
U AL - FAA 2hd 2e 38 a4 G F
o FEI1S AR RE 70 oy

e Aoke] o]

D B A B FAACIS “AA” B rheh WFIW qbe] A olhe
e 4ol webol s, B FAA0] 588 WAHA e Age PR
W 5o A3 Au Ao hEdh

2 BEI B Ak G ARl U AUE YAY 5 dom Ak oo sl A
Hog Feols|ok et

3 & of Wad Hawel ARwe

TAA WAE R 23S B AY dE8d F

AR R GAE] ZeshA %
2o ZA7F BAHA FEF AFAE AP 24

4) & AANA 278k s B S dis) Ao o)l e FEE GE= At
AA=E o], Ak & olF BHY43tr] g AA WA, EF TS FUEIoF & A9 Ak
A Boro g7 Als)sit),

5) AlokAs FFsHs A 4%, T4 5ol o AFHA YL Ak

;t
ﬁ

4. 718k =4
7h EE219 A & 709 oy
o FABE EoAHE - 9444 A9 1 010-8807-9124




